
Istruzioni di montaggio
Assembly Instructions 
Montageanleitungen 
Instructions de montage 
Instrucciones de montaje

Design by Jean Nouvel design

M
920198-0008-B

01.2024

NVL Table



Kit ferramenta 
Hardware kit 
Hardware-kit 
Kit de matériel 
Kit de hardware

A
M10x150

B
M10x18

C
M10x100

D

E

kit fe rram e nta | hardw are  kit | hardw are -kit | kit de  m até rie l | kit de  hardw are  

1

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

M10x150

M10x18

M10x100

3 4

2

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

kit fe rram e nta | hardw are  kit | hardw are -kit | kit de  m até rie l | kit de  hardw are  

1

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

M10x150

M10x18

M10x100

3 4

2

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

kit fe rram e nta | hardw are  kit | hardw are -kit | kit de  m até rie l | kit de  hardw are  

1

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

M10x150

M10x18

M10x100

3 4

2

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

kit fe rram e nta | hardw are  kit | hardw are -kit | kit de  m até rie l | kit de  hardw are  

1

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

M10x150

M10x18

M10x100

3 4

2

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

kit fe rram e nta | hardw are  kit | hardw are -kit | kit de  m até rie l | kit de  hardw are  

1

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

M10x150

M10x18

M10x100

3 4

2

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

kit fe rram e nta | hardw are  kit | hardw are -kit | kit de  m até rie l | kit de  hardw are  

1

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

M10x150

M10x18

M10x100

3 4

2

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

kit fe rram e nta | hardw are  kit | hardw are -kit | kit de  m até rie l | kit de  hardw are  

1

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

M10x150

M10x18

M10x100

3 4

2

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

kit fe rram e nta | hardw are  kit | hardw are -kit | kit de  m até rie l | kit de  hardw are  

1

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

M10x150

M10x18

M10x100

3 4

2

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

kit fe rram e nta | hardw are  kit | hardw are -kit | kit de  m até rie l | kit de  hardw are  

1

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

M10x150

M10x18

M10x100

3 4

2

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

6

7

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

8
M10x150

5

9 10

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

kit fe rram e nta | hardw are  kit | hardw are -kit | kit de  m até rie l | kit de  hardw are  

1

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

M10x150

M10x18

M10x100

3 4

2

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

kit fe rram e nta | hardw are  kit | hardw are -kit | kit de  m até rie l | kit de  hardw are  

1

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

M10x150

M10x18

M10x100

3 4

2

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

kit fe
rra

m
e

n
ta | h

a
rd

w
a

re kit | h
a

rd
w

a
re-kit | kit d

e m
a

té
rie

l | kit d
e h

a
rd

w
a

re 

1 N
VL Table

designer Jean N
ouvel design

ISTRU
ZIO

N
I D

I M
O

N
TAG

G
IO

 | ASSEM
BLY IN

STRU
C

TIO
N

S | M
O

N
TAG

EA
N

LEITU
N

G
EN

 | IN
STRU

C
TIO

N
S D

E M
O

N
TAG

E | IN
STRU

C
C

IO
N

ES D
E M

O
N

TA
JE

M
10x150

M
10x18

M
10x100

3
4 2

M
D

F Italia srl Società U
nipersonale - Registered O

ffice - via della Posta 10, 20123, M
ilano (M

I) | H
eadquarter - via Fratelli C

ervi 4/A
, 

22066, M
ariano C

om
ense (C

O
) - T +39 031 7570301 | info@

m
dfitalia.it | w

w
w

.m
dfitalia.it | P.I. - C

.F. 09683280961 R.E.A
. M

I - 2106973

kit fe rram e nta | hardw are  kit | hardw are -kit | kit de  m até rie l | kit de  hardw are  

1

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

M10x150

M10x18

M10x100

3 4

2

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

kit fe rram e nta | hardw are  kit | hardw are -kit | kit de  m até rie l | kit de  hardw are  

1

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

M10x150

M10x18

M10x100

3 4

2

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

ki
t fe

rr
a

m
e

n
ta

 | h
a

rd
w

a
re

 kit
 | h

a
rd

w
a

re
-k

it | k
it d

e
 m

a
té

rie
l | k

it d
e

 ha
rd

w
a

re
 

1

N
VL

 Ta
bl

e
de

sig
ne

r J
ea

n 
No

uv
el

 d
es

ig
n

IS
TR

UZ
IO

N
I D

I M
O

N
TA

G
G

IO
 | A

SS
EM

BL
Y I

N
ST

RU
C

TI
O

N
S |

 M
O

N
TA

G
EA

N
LE

IT
UN

G
EN

 | I
N

ST
RU

C
TI

O
N

S D
E M

O
N

TA
G

E |
 IN

ST
RU

C
C

IO
N

ES
 D

E M
O

N
TA

JE

M
10
x1
50

M
10
x1
8

M
10
x1
00

3

4

2

M
D

F 
Ita

lia
 s

rl 
So

ci
et

à 
Un

ip
er

so
na

le
 -

 R
eg

is
te

re
d 

O
ffi

ce
 -

 v
ia

 d
el

la
 P

os
ta

 1
0,

 2
01

23
, M

ila
no

 (M
I) 

| H
ea

dq
ua

rte
r -

 v
ia

 F
ra

te
lli

 C
er

vi
 4

/A
, 

22
06

6,
 M

ar
ia

no
 C

om
en

se
 (C

O
) -

 T
 +

39
 0

31
 7

57
03

01
 | 

in
fo

@
m

dfi
ta

lia
.it

 | 
w

w
w

.m
dfi

ta
lia

.it
 | 

P.I
. -

 C
.F.

 0
96

83
28

09
61

 R
.E

.A
. M

I -
 2

10
69

73NVL Table

Weight
75 Kg

B+D

A

A

A

50

NVL Table � bases

1

2 3

4 5



6

7

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

8
M10x150

5

9 10

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

6

7

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

8
M10x150

5

9 10

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

6

7

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

8
M10x150

5

9 10

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

kit fe
rra

m
enta

 | hard
w

are
 kit | h

ard
w

are
-kit | k

it d
e  m

até
rie

l | k
it d

e  h
ard

w
are

 

1

NVL T
ab

le

de
sig

ne
r J

ea
n N

ou
ve

l d
es

ign

IST
RU

ZIO
NI D

I M
ONTA

GGIO
 | A

SS
EM

BLY
 IN

ST
RU

CTIO
NS |

 M
ONTA

GEA
NLE

ITU
NGEN

 | IN
ST

RU
CTIO

NS D
E M

ONTA
GE |

 IN
ST

RU
CCIO

NES
 DE M

ONTA
JE

M
10
x1
50

M
10
x1
8

M
10
x1
00

3

4

2

M
DF I

ta
lia

 sr
l S

ocie
tà

 U
nip

erso
nale

 - 
Re

gist
er

ed
 O

ffic
e 

- v
ia 

dell
a 

Po
sta

 10
, 2

012
3, 

Mila
no

 (M
I) 

| H
ea

dqua
rte

r -
 vi

a 
Fra

te
lli 

Cer
vi 

4/
A, 

22
066

, M
ar

ian
o C

om
en

se
 (C

O) -
 T 

+3
9 

031
 75

70
30

1 |
 in

fo
@m

dfita
lia

.it 
| w

ww.m
dfita

lia
.it 

| P
.I. 

- C
.F.

 0
96

83
28

096
1 R

.E.
A. M

I -
 2

10
69

73

NVL Table � laquered or material top

6 8

7 9

6

7

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

8
M10x150

5

9 10

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

6

7

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

8
M10x150

5

9 10

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

A
M10x150

6

7

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

8
M10x150

5

9 10

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

C C C C+E

NVL Table � laquered or material top



11 12

13

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

14

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

11 12

13

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

14

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

11 12

13

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

14

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

NVL Table � laquered or material topNVL Table � laquered or material top

10 12

11 13

6

7

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

8
M10x150

5

9 10

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

6

7

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

8
M10x150

5

9 10

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

A

11 12

13

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

14

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

C C+E

CLICK



2

1 3

NVL Table � marble topNVL Table � marble top

C+E

A
A



4 5

NVL Table � marble topNVL Table � marble top



15

16

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

DO NOT MOVE THE TABLE FROM THE TOP

IF NECESSARY, MOVE THE TABLE FROM THE BASES AT THE SAME TIME

17

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

Do not move the table from the top.
If necessary, move the table from the bases at the same time.

NVL Table

For cleaning and maintenance, please see the 
information on the website www.mdfitalia.it

!

15

16

NVL Table
designer Jean Nouvel design

ISTRUZIONI DI MONTAGGIO | ASSEMBLY INSTRUCTIONS | MONTAGEANLEITUNGEN | INSTRUCTIONS DE MONTAGE | INSTRUCCIONES DE MONTAJE

DO NOT MOVE THE TABLE FROM THE TOP

IF NECESSARY, MOVE THE TABLE FROM THE BASES AT THE SAME TIME

17

MDF Italia srl Società Unipersonale - Registered Office - via della Posta 10, 20123, Milano (MI) | Headquarter - via Fratelli Cervi 4/A, 
22066, Mariano Comense (CO) - T +39 031 7570301 | info@mdfitalia.it | www.mdfitalia.it | P.I. - C.F. 09683280961 R.E.A. MI - 2106973

OK!


